1. Sketch and Explain high Zin capacitor coupled voltage follower with necessary design

steps and show that the input impedance is very high as compared to capacitor coupled
voltage follower.
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~ Figwe  High input impedance capacitor-coupled voltage follower. Feedback
via 3 to the junction of R, and R, gives an input impedance ofZ, = (1 + MR,
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2) Explain the working of R-2R network DAC and derive expression for output voltage.

R-2R LADDER:
1. Wide ranges of resistors are required in binary weighted resistor type DAC. This can be

avoided by using R-2R ladder type DAC, Here only two values of resistors are required.
The typical value of ‘R’ range from 2.5KQ to 10KQ.
2. Consider a 4-bit DAC as shown in figure below, where b5 , b, , b, , b, are the switches
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Hence the output can be represented as
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3) What are the advantages of precision rectifier over ordinary rectifier? Discuss the operation of
full wave rectifier circuit using bipolar op-amp.
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